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2.9.5 Exponenciální rovnice II 
 

Př. 1: Vyřeš rovnici 3 2 2 32x x⋅ + = . 

Př. 2: Vyřeš rovnici 12 3 3 5x x+⋅ + = . 

Př. 3: Proveď substituci výrazů: 
a) 22x+ ,  12x− ,   2 x−   pokud platí 2xy = , 

b) 23x+ ,  33x− ,  33 x−  pokud platí 23xy −=  
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Př. 4: Vyřeš rovnici 
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Př. 5: Vyřeš rovnici 1 2 33 2 3 3 2 3 30x x x x− − −− ⋅ + − ⋅ = . 

Př. 6: Vyřeš rovnici 2 4 32 2 3 2x x− −= − . 

Př. 7: Vyřeš rovnici 2 4 9 2 4 0x x⋅ − ⋅ + = . 

Př. 8: Vyřeš rovnici 
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+ = . 

Př. 9: Vyřeš rovnici 0,2 0,24 2 4 1x x− −− ⋅ = . 

Př. 10: Petáková: 
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